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QUESTION 1

The following PeopleCode program compares two editable fields on a component.

= - =

| v || v

If All(PSU_CRS_SESSN.START DATE, PSU_CRS_ SESSN.END DATE) And
PSU_CRS_SESSN.START DATE > PSU_SESSN.END_DATE Then
Error MsqgGet (1040, 3, "Message Not Found: Course Start Date must not be later than End Date.”,
End-If;

On which event or events should the program be placed?
A. FieldEdit and RowInit

B. SaveEdit and SavePreChange

C. SaveEdit

D. FieldChange and SavePreChange

E. SaveEdit and Rowlnit

F. FieldEdit

Correct Answer: B

Reference: https://docs.oracle.com/cd/E41633_01/pt853pbhl/eng/pt/tpcd/task _PeopleCodeEvents074aba.html

QUESTION 2
Which statement is correct about developing, modifying, and deploying PeopleSoft fluid applications?

A. When developing fluid applications, there is a decreased usage and reliance on cascading style sheets (CSS) when
compared to classic applications

B. To develop fluid applications, you will continue to use the same PeopleTools, such as Application Designer, that have
been used to develop PeopleSoft applications for decades

C. For your end users, you will need to implement a separate server infrastructure to deploy fluid applications, keeping it
completely separate from the server infrastructure used to deploy classic applications

D. Any previous application logic you want to port from a classic application to a fluid application will need to be
rewritten in Java

Correct Answer: B

QUESTION 3
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Select three steps that comprise the user interface phase of PeopleSoft application development? (Choose three.)
A. Register components

B. Define fields

C. Define pages

D. Define components

E. Define records

F. Build records

Correct Answer: ACD

Reference: https://docs.oracle.com/cd/E41633_01/pt853pbhl/eng/pt/tapd/
task_UsingPeopleSoftApplicationDesigner-0776f2.html

QUESTION 4

You have been asked to create a new record for student suggestion review, which includes a field for implemented Flag,
which will be a check box on the page. Before creating a new field, you look for an existing field to reuse.

i FLAG (Field) M= E3
ikt Tyoe. | T~
Fisld Length I‘I
Field Labels
Label 1D Shoit Name Del
2 Flag Flag
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4 L
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I —' r- -
Display Name: | H ) =

FLAG, as shown in the exhibit, is a PeopleSoft delivered field. You can use this field if which statement is true?
A. The field only requires adding translate values
B. The field only requires modifying it to be a Y/N table

C. The field only requires modifying the field format
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D. The field does not require any modifications
E. The field only requires an additional field label

Correct Answer: E

QUESTION 5

Review the following definition:

Eg Fresentation
= €2 OCPUtilities
E@ ClassDispatcher
-Eg ClassLoader
Eg EmnoiCollection
E ErmorFHow
Ee FRegistry

Select the correct PeopleCode statement to declare an object of the ErrorRow class.
A. Component OCP:OCPUrtilities: ErrorRow andNewObject

B. Component andNewObject extends ErrorRow;

C. Row OCP:OCPUtilities:ErrorRow andNewObject;

D. andNewObject = create OCP:OCPUltilities:ErrorRow();

E. andNewObject = Get (OCP:OCPUtilities:ErrorRow);

F. Component OCP.OCPUtilities.ErrorRow andNewObject

Correct Answer: A
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